@ W=nnw ® W icea

O iR R =

B B



B
BH

©)
A2

-
%A

N
Hr

el
Hr



=3X

3=7

— |

— |~

— | <






F2 8 Az Mo,

ol
=2 X

I

°f

bl

]

5.

—sx[]-[]

5+




A

30
54741

1
1-=+3

2

6.

0| %

X
[hrREa]
©
™ 0
A,
+
X — |
[ I [ [
Q@ @
™ o
o
X Yol Kapl
—le X
— M
@ ©






op

0,5)2,5

@ 25+5 ® 250+5

® 25+5

® 250+0.5

@ 25+50



> EE
S EE



® 7




@ EAz|et wA 27}

@ 27150 mA ] 4 s

o] %] 2uo] .

A



the % Wl A%}

12.

® o7

©® Azt

@ A7



<

< <

G)



&







M



2o WAoo 1A AMtsts YT
of erure 42 Aehe AP oA,

2.392+0.26:g;§=[]+26:[]

100 ~ 100




18. ol 7o) BAHSE 2174AY T o] ZBe] mA o] 42} o]
5] 22 FaA L.

@ 407 @ 217 @ 1971 @ 917} ® 6170



i

.

ul



Azt 2.3km A A=tk Yot 9.2kmE Ao =W



35LR1S&Fo] 1 2ol LAL A Y= s 2 S5 oy
Rroto}

21. 2ol
=S

1 O .

gyt Sz 2& 715 A7l i 2 2 F

sher] oAl 9.

5 L
=

Mo



22.

® 9+0.35=25---0.25

& BE 12X (F37H)

@ 234+11=21---0.3

@ 31.6+37=8---0.2



23. 0.9 2t oJd 529 Fo] 2.286 YUt o 5 FIHA L.

5 J=X
=%



24.

o7l 24cm? @

s CRECE

5 J=X
=%

cm



rgl

10]9] 7]+ 1.45m ©]iL, oF¥ 2] 9] 7] = 1.78m Y. opH 2] 9]
@Arlo]o] 719] of B wjQlA] Hh-Z7sto] A4 AA 22| 7H]
Q.

7

]_

—_

>0 =

ol

Hj

v
m
I



